
FormulaTaylor
Caixa Nb /all /expr

TODAS 55
NA 0 0%
INVÁLIDA 0 0%
A 34 62% 62%
B 1 2% 2%
C 2 4% 4%
D 4 7% 7%
E 14 25% 25%

Taylor
Caixa Nb /all /expr

TODAS 55
NA 0 0%
INVÁLIDA 0 0%
A 52 95% 95%
B 2 4% 4%
C 1 2% 2%
D 0 0% 0%

banana
Caixa Nb /all /expr

TODAS 55
NA 0 0%
INVÁLIDA 0 0%
A 8 15% 15%
B 1 2% 2%
C 1 2% 2%
D 0 0% 0%
E 45 82% 82%

fundamental
Caixa Nb /all /expr

TODAS 55
NA 0 0%
INVÁLIDA 0 0%
A 29 53% 53%
B 14 25% 25%
C 4 7% 7%
D 0 0% 0%
E 8 15% 15%

inversa
Caixa Nb /all /expr

TODAS 55
NA 0 0%
INVÁLIDA 0 0%
A 49 89% 89%
B 1 2% 2%
C 1 2% 2%
D 2 4% 4%
E 2 4% 4%

lHopital
Caixa Nb /all /expr

TODAS 55
NA 0 0%
INVÁLIDA 0 0%
A 40 73% 73%
B 11 20% 20%
C 1 2% 2%
D 2 4% 4%
E 1 2% 2%

log
Caixa Nb /all /expr

TODAS 55
NA 0 0%
INVÁLIDA 0 0%
A 40 73% 73%
B 3 5% 5%
C 2 4% 4%
D 9 16% 16%
E 1 2% 2%



ponte
Caixa Nb /all /expr

TODAS 55
NA 0 0%
INVÁLIDA 1 2%
A 28 51% 52%
B 12 22% 22%
C 8 15% 15%
D 6 11% 11%


